



Nom: _____

Date: _____ Note: _____

$10^2 - 7 =$

$9^{(-2)} + 10 =$

$(-4)^2 + (-1) =$

$(-10)^{(-2)} + 8 =$

$(-5)^2 + (-6) =$

$2^{(-2)} + (-8) =$

$3^2 + 2 =$

$7^{(-2)} - (-6) =$

$6^{(-2)} + (-5) =$

$(-7) - (-8) =$

$7^0 + 2 =$

$(-6)^{(-2)} + (-4) =$

$(-7)^{(-2)} - 9 =$

$(-7)^{(-1)} - 5 =$

$3^{(-2)} - 9 =$

$(-4)^{(-1)} - 1 =$

$(-9) - (-5) =$

$(-2)^2 - 9 =$

$(-8)^2 + (-10) =$

$6^0 + (-3) =$



Nom: _____

Date: _____ Note: _____

$$10^2 - 7 = 93$$

$$9^{(-2)} + 10 = \frac{811}{81} = 10\frac{1}{81}$$

$$(-4)^2 + (-1) = 15$$

$$(-10)^{(-2)} + 8 = \frac{801}{100} = 8\frac{1}{100}$$

$$(-5)^2 + (-6) = 19$$

$$2^{(-2)} + (-8) = \left(-\frac{31}{4}\right) = \left(-7\frac{3}{4}\right)$$

$$3^2 + 2 = 11$$

$$7^{(-2)} - (-6) = \frac{295}{49} = 6\frac{1}{49}$$

$$6^{(-2)} + (-5) = \left(-\frac{179}{36}\right) = \left(-4\frac{35}{36}\right)$$

$$(-7) - (-8) = 1$$

$$7^0 + 2 = 3$$

$$(-6)^{(-2)} + (-4) = \left(-\frac{143}{36}\right) = \left(-3\frac{35}{36}\right)$$

$$(-7)^{(-2)} - 9 = \left(-\frac{440}{49}\right) = \left(-8\frac{48}{49}\right)$$

$$(-7)^{(-1)} - 5 = \left(-\frac{36}{7}\right) = \left(-5\frac{1}{7}\right)$$

$$3^{(-2)} - 9 = \left(-\frac{80}{9}\right) = \left(-8\frac{8}{9}\right)$$

$$(-4)^{(-1)} - 1 = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$(-9) - (-5) = (-4)$$

$$(-2)^2 - 9 = (-5)$$

$$(-8)^2 + (-10) = 54$$

$$6^0 + (-3) = (-2)$$